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INSTRUCTIONS (Dé-‘é:n)w)
Please write your Register Number on the Test Booklet, immediately on recepit of the same and
check the Test Booklet and ensure that it contains all the questions. If you find any defect in the
Test Booklet or Answer Sheet, please get it replaced immediately.
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The Test Booklet contains of four parts and 120 questions. Part A has questions on History and
Culture, Part B has questions on Constitution, Polity, Social Justice and International Relations,
Part C has questions on Indian and Andhra Pradesh Economy and Planning and Part D has
questions on Geography. Each part carries 30 marks.
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The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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The Test Booklet is printed in four (4) Series, viz. @ The Series, or or or @
is printed on the right-hand corner of the cover page of the Test Booklet. Mark vour Test Booklet
Series or or or IE in Part C on side 1 of the Answer Sheet by darkening the appropriate
circle with Blue/Black Ball point pen.
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Example to fill up the Booklet Series
* Ifyour Test Booklet Series is'A, please fill as shown below :
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If you have not marked the Tegt Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leq . 10 discrepancy in determining the exact Test Booklet Series,

then, in all such cases, your Answer Sheet will be invalidated withoyut any further notice.
NO correspondence will be entertained in the matter.
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5.

7.

10.

11.

ave to select one correct answer and
for the question. If more than one
Ball point pen to make
Use of whitener is

Rach question iz followed by 4 answer choices. Of these, you h
mark it on the Anegwer Sheet by darkening the appropriate circle
cirele iz darkened, the answer will not be valued at all. Use Blue or Black

heavy black marks to fill the circle completely. Make no other stray marks.

prohibited. IT used, it will lead to invalidation.
B8 DD Teorh SErerinn BSEdsD, anotiod? Recirn aarea ST ssre SEand® RED
n0nsSh, e BarEEdaD
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e : If the answer for Queation No. 1is Answer choice (2), it should be marked as follows :

oy 4, dios, Babdosy 1 £ praeany (2) epcuodii, s RlR Ha Lﬁanmsﬁrmn;guﬁﬁam:
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Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the sscond copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation,

e DEEnE® Saranods gosos® Sotignn (Invigilator) dlus, SolES fnosI85, HSm
D ALnn Dotisin ASreed syssod? HeetaniSl wo D8800BED.
) NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMRE

Answer Sheet, otherwise your Answer Sheel will be invalidated.
& Dpan B DEae oD S5, DEENR SeSeure, Ao Aabeiin ma, Doddsorrd, Do Jabo,

st M AhsEh Sopargs HEay dedbonac.

Using the Whitenen/Blade/Eraser or any kind of tampering to change the answers on OME Answer
Sheet will lead to invalidation.

agivees DEae’ S s artytn B35, Ho, g g5 D Dodos aggertn Sgeo 3 &y
sairges SdEn Deffogadtn, 4

No not mark answer choices on the Test Booklet. Vielation of this will be viewed seriously.
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Before leaving the examination hall, the f:]_‘rHj.idﬂtE ghould h”.'d over the original OME Answer Sheet
{top sheet) to the Invigilator and carry the bottom gheet (duplicate) for hisher record.
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12. Caleulators, MathematicalLog Tables, Mobile Phones, Bluetooth instruments or any other

Electronic Deviees will not be allowed into the Examination Hall.
SO0B08, ndsieh dud, 20886, arecs sosoe md 8 stnsod doghE sestane D6
Dendtng wrosoBotusa.

18. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2 Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.

D ek ey 265 TY Bdly S0 (2 roven) eocadw. 28 as:nsﬁ o wﬁfﬂ

ExOeaEy Shosamdoa,
14. If any candidate attempts to nse any means to cheat/copy ete., hefshe is liable for prosecution and
debarment, .
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15. Rough work may be done on the last page of the Question Booklet enly. It should not be done
anywhere elss.

0% 35,750 4, Bed? 0o BEE° dmpd Sarrd. 38 ogm Sapo.

16. As per G.0. Mz No. 235, Finance (HR-1, Plg & Policy) Dept., Date 06/12/2016, each wrong answer
will be penalized with 13 of the marks prescribed for the question and that would be deducted
from their total marks.

G.0. Ms. No. 235 L&, (HR-I, Flg & L) Gargdood, 4 06/12/2016, Fis~dore oo dSro,e
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GS/1G/100
Part A
History and Culture
1.  During the Indus Valley Civilization, the

beads manufacturing industry was qutamd at
(1) Dholavira

(2)  Suktagendor

(3)  Chanhudaro

(4)  Daimabad

Select the correct statements « plous

beliefs of the Rig Vedic Period :

L Dyus was a celestial God of the Rig
Vedic Aryans similar to Jupiter of the

Greeks.

) § 8 Prithvi was considered as the mother of
all Gods.

IITI. Agni was  worshipped as the
intermediary of taking the offerings to
the deities. 3¢

IV. Cow sacrifice was also the part 'of

worship.
(1) I1,1II and III only
(2) II, III and IV only
(3) I,III and IV only
(4) 1,11 and IV only

Match the following schools of philosophies
with their theories :

a. Sankhya I. Predetermined fate

theory

World was formed by the

blending of nature

Considered Atom as

basis of the world

IV. Advocated materialistic
ideology

b. Vaisheshika IL
c. Lokayata IIL
d. Ajivika

Choose the correct answer using the codes
given below :

a b c d
(1 U v I 111
2 I 1 v I
(3 v I II I
4) I I v I

(4)

3.
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2r6 S8050 ¥0 6
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1) Fodd
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L (Adoerdy 27Deb S8 2whisd eS3050
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IL 59639 BS$e0008 SO 2rdoTo .
I B0 JZS3I0DH S8 I
30538 esf) D SFFRoTT .
IV. 9 2O owS o &ra s o
GOTA.
1) I, II o805 I Sredsd
(2) II, III 088 IV S50
I, IIT S8 05» IV S0
@) I, 1108050 IV SF&
Bo& Foos TpoD T8 domos
2[00 : -

a OPS I S0OB PSS 3852
oo
b BINE L (D% Soonss'
(DJ00 BYE0D
" S50 1. @ENHD (DDOTE
rBHOET SOKST S
4. @28 v, TAETS 2rSSerd)
DSGod
AHS ANLDAES FHROD &IHTTH0D IBS
HAFFTR) JOTHEOA :
a b c d
1y 1I v 1 111
@ 11 11 v 1
3) IV 111 11 I
4) I I v I
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Hathigumpha inseription of Kharavela gave
the details of irrigation focilities provided in
the Kalinga Region by

(1} Mahapadmananda

{2} Bimbisara

(@) Ajatnsatru

(4)  Ashokn

Select the correct statements regarding the
inseriptions of Ashoka :

. They are in Brahmi, Kharosthi, Greek
and Aramaie geripts,

II. The Monarch's name was mentioned as
Ashoka only in Msski and Gurjara
ingcriptions.

III. The XIII Rock edict mentioned the

names of the five Greek Hulers as his
conftemporaries,

IV. The IV and V edicts mentioned the war
of sucecesaion with his brothers,

(1) I, 11 and Il only
(2} IL 111 and IV only
{3) T, 1 and IV only
(4) T, T and IV enly

Match the following books with their authors :
a. Prajnaparamita . Acharya Kundakunda

b. Samayaaara I1. Sarvavarma

e. Lilavati L Acharya Nagarjuna
Parinayam

d. Eatantra V. Kuthuhala
Vyakaranam

Choose the correct answer ygip the codes
given below : .

il 1]

e d
(1 m 1 0 1y
12) I 111 IV 1
@ m 1 v
() 1 It m

[6)

(2]

arddend FGHOD TR0 Dol |Fraod’
IS EDyw00d N Fade ddocd
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(3) e
4 e§E
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I esD2brg, ot (05 wddhs Oned
Se92D.
1L o ef S sriy, s T
Smash B dndod.
IOl Séarss Jerandod
D Hdsdd 1A% oo S
2 dagron.
IV, Frenih, siths Termaard @y Sa8nie
S0G3g 20NS SrGRk L chugen
0 ailydagrown,
() 111 Sbcs I Smsh
(2) IL 0T sodcin IV Smash

@ 1T Sofcin IV A

@) LI Sodcio IV s

1Bod il (fofrod o Sdonde s
eI ;

o |0 ardind L

a3y
Fodtoor
b. facihard 11, #8350;

e. Derdd HB00O ML Bordy rrids
d séold oiteo IV, Sidrires

s adinds fhod andrficd S04

R TR Qood
a b c d
(1) I 1 1T v
(2) 1 I w I
111 1 W 11
4y 1 Il I v
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Which of Uhe fullowing wan sof the feature of
Wio Giandldn g (e Guapta Period 7

1 Al Cohiim

2 Mo Avtomomaun Bodies

G Madstabned Armed Dodies

Y Worked on Bankers

The account of Greok (Yavona) invasion

during the reign of "urhvamitrn Sunga s
mvallable in

1. Gargi - Sambita
1. Patanjali - Malinbhashyn
I Kalidasn - Malovikognimitra

V. Visakhodntta = Mudrarakahass
Chovse the correct answer using the eoder
given below ;

(1) L IT amd I11

(21 00000 el TV

3 L1 and IV

(40 LI s TV

Choose  the eorrect  statement reparding

Naolanda  University at the time of

Harshavardana :

i1} Harshavardana donated 10,000 village
to the university. J

i2) The number of teachers in the
university were 15,000,

(3} Silabhadra was the Chancellor of the
university. !

{4)  The medium of instruction was Pali.

Match the following tasxes :

Meamee Tax
n. Navidadere I.  Tax on Marriage
bh. Melivamsam [I. Tax on Barbers

¢, Muonevana
d, Tudimeya

[11. Tax on Ploughs
IV, Tax on Houses

Chouose Lhe correct answer using the codes
given below

a b ¢ d
(1y 1 11 L |
2 I IV m 1
@ 1 I v I
4 IV 11 I Il

(6)

T

H.

10,

(2]

Bos s86 D8 e sooTd Foo
Q5 @0 5N

(1) Sudodd o)

@ Srciio (Hond BN Soven

(1) e aorsd £08 Ho8d

() zrpoftr H0d3eh

Hhus Dol Teod (Ad (chsS)
toadirss Hopobodd Ligo &S
LIEALSVISTAE

I  mQ-doars

1. Sdoesd - Sdfarag

I, s9orin-Sreasiyons

IV, Drptd- INGois

Bt @il S0 SIRrAod JBS

AATCrErDy SooBod
1,1l Solaio 1T
(2) I, 11 SoBcin IV
{3). 1, I Sobcio IV
{4y I 1T So0cho IV
FOSTN sednad Asooe

¥ focrjodbdndiy  Rouofod A0S
558 dochsod

(1 rOS0MM DY DT aabhands
_ 10,000 [IPairedadd CradZngg s,
2) DI ochos' D asroding

c30%5 15,000,

@ Fod|Sodh D Dok Siosd,
() S Srdgto e,
\Bod Sayendh sdhthcndn :

7] adrd))
Losdsdes L oasmonadn
b 2O30d0 T HondasDd)
© F3s ML gy i
d.

Aol Vo gymanen s
s Adinds fhed asmricd 258
RAFETR) dodhEod |

a h ¢ d
@n m oy
TI | i i
3y 1 m v I
@ NE I 1l
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Arrange the following temples of Ellora in

chronological order according to their time of
construction ;

I. Ravan ki Fhai
II.  Knilasanatha
. Dashavatara
IV. Dumar Lena

Elhu-nse the correct answer using the codes
gwven below :

(1. I, IV, I, 1
2y I,IL IV, I1I
3y IILIIV,II
(4} III, IV, IL I

Mateh the following terms with their
meaning related to village administration of
the Cholas @

8. Varivam [. Ward

b. Kudumba II. Lottery system

¢. Kudavelai  III. Member of the village
assembly

* d. Perumakkal IV. Committes system

Choose the eorrect. answer using the codes
given below :

a b c
(1 IV 1 111 II
2 1 111 I w
@ IV I 1] IT1
i4r 1 v 111 11

Which of the fﬂﬂﬂ-w'ing highways existed
during the rule of Kakatiyas 7

I.  Orugallu —Tripuranthakam — Nellore
1L

Dw&raaallnudm = Ballari - Orugallu
II.  Motupalli - Tripuranthakam — Ballari
IV. Palnadu - Nalgonda - Nekarikallu —

Orugallu

Choose the correct Anawer using the codes

" given below :
(1) IandIlonly
{2y Il and III only
(3} I and IV only
(4) Iand IV only

(7)

11.

12.

13.

(2]

a8 dowym serofy edotboomr
rerdofoor o IS sodirod
:JEF";I.‘-II Dabod

I oraien 8 padi

I, Eeroard

1. Sased

V. ¢l @

At maads Fhod addriod A0S
AdrErErn) doctod :

(1y  IL TV, IO, ©

I, 111, IV, 11

3y ILILIV.II
4 NLIV,ILI

e r H8Erodty donodond 1Bod
arred ] edood = Hnswn

a. - «0cho L. &%
b Sotno I, eréad Hem
¢ SES's ML |rado $2 Hibscn
d. DONHS v, s 5059
&S asiadd FHodk. 4adirfod 3BS
ARSI WothE ol ;

a b © d
1y W 1 Im 10
(2) 1 11 I v
@ v 1 m o
@ 1 v m I
sfmcine  Tod  Tdf e 1Hed
Garorthe 20 ?

I athfien - | 8horosio - Jerdh

II. oridaoando - ey - Ldofien

I Frendd - | Bhorodto - 2wl

V. Serydh - S0 - Fedsen - Ldaten
Brbs @asndd Fhed andirfiod HB&S

DATCTAR] dotusod
(1) 1 S08ciny I Sreash
(2) 1T SaBcio U &r|ehsh
(3) IS8k IV Arash

I sofclio IV Sréh

WWW.SAKSHIEDUCATION.COM


sakshi
Oval

sakshi
Oval

sakshi
Oval


GS/M1GMo0

14.

15.

16.

WWW.SAKSHIEDUCATION.COM

Which of the principles aro common for Dhnkti
and Sufi movemeng 7

. Monotheism

II.  Asceticiam

1L Religious tolorance
V.  Accepted the idel worship to some extent

Choose the correct answer using the codes
given below ;

(1Y L and 111 only
11, 111 and TV only
L 111 and TV only

I, 11 and TV only

2
L 4
(4

Choose the incorrect pair regarding the foreign
chronicles of the Vijayanagara Period :

Deseribed the
conditions during
the reign of
Dievarava 11

(1} Abdur Razzaq -

(2] Described :
ihe rule of Krishna

Devaraya

Domingo Paes

Caesar Frederick —= Wrote about the
conditions of
Vijayanagara after
the battle of

Rakshasa Tangadi

(3)

{4) Nikitin ~ Visited during the

reign of Achyuta
Devaraya

The Vijayanagra ruler whe permitted Jesujts
to build churches at Nellore and Chandragiri
wis !

(1) Devaraya Il

2y Venkatapati Rays ]
(3)  Thirumala Hayg |

(4) Sadasiva Raya 11

(8]

14,

15,

10,

Hm B AT & A eron OLETE) M

L R gl

| T A T Y

11, sheb para0

IV, Tosstt T mofittoddo

B @ st §H0M SHTIMoD HES
Sarerarny sotod:

@) 1,11 00k [T s ebads
1L 111 snain IV Sresh
1, 111 SoBin TV S a8l

(2]

(Hi1]

@y 1,00 S0 IV soehaly
Szchand serdf  Hods  DEYdwe
Etareds A0 s adad lodod
(1) expb - Ssodboll
Herl FroarTos vl
HBRdd) oo
(20 Swoft - Eyu Haordboed
TS Mafod afotrd
(3 Pab - odd Sofid dingo
608 o b ared Da il
SHOBdeH (TR
(@) R8BS - woue Bdvroioe
Herar e0d
i S%adhr SO0

TP, So|BiBend’ Boyen ABoes

BAmES of) smdbs Dachaid
ares Bty o

(1 SSoatney 1

@) Fosa3Boratnen 11
) SBderragen |
i) hmﬂammﬂm 1
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Which of the following incidents took ploce
during the reign of Jabangic?

1. The fifth Sikh Gura, Arjoan Dev wns
sontoneed to death

Il.  Victroy over Rajputs of Mewnr

1. Annpexation of Knbul and Kandnhnr

V.

Arrival of English Enst Indin Company
to India

Choose the correct answer using the codos

Eiven bolow

(1} 1.T11 and 11T anly
{2y I1, 111 and IV only
3] I, I and IV only
4} L IT and IV only

Match the following revenue officials during
the reign of Akbar with their duties ;

a, Amalguzar L Hept records of the
revenue paynble by tho
villages

b. Harkuns II. Revenue Collector

in-charge of n District

I11. Acconntant

IV. Prepared the seasonal

crop statistics

c. Qanungo
d. Bitikchi

Chosse the eorrect

: answer uring the codes
given below ; %

11

d
1
1
111
1

(1)
{2}
(3}
(4]

= A b

The longest Trunk Road constructed by
Shershah which still ayjgig in

[
17.

18.

19,

(1) Agra to Burhanpys
{2)  Indus to Senargagy
id) Agra to Chittor

{4y Lahore to Multan

2]

adroli SDresrfsody (fod BRSO
mosntrsen Jen Doerr o
I, Pofope oo dady Mt e BT g
't T e R AR Ly T T

ool orasdy s T Do
sard, ToosrD o et '
=olity &) 2oddir Jonh Solcdirss.
L p R E Ty -
B @i5ets FhHed aliriot) D0G
ASPETTRY, oot ol

(1) LTI sofaas 11T SoMeS

1.
111.
I,

(2} TI, T oo8ciion TV shofst s
() 1, 11T Shodabin TV Ay

I 1 Sof ok IV S,
@50 soodd Bod Lma, Sare ¥
eOE e o0 BPis e ma otun A - ;

8. @0 AErd L Imirs B34r; 50
BT L F AN SA0

b, &5 225

. Badary Sarewn o
SRy LE BT, o |
erd
e. Hcooff I Aot
d. Dedsy IV. S mis
a0t DS
By ey doirdn
Hroard
Cfdd 2D 185 Thersdy asmrfod 224
DATETERD) DOCEaA -
m [ 1] o« d
@ i S\ 1o
{ Il v 11 i
3 IV 11 1 I
)  Im 1 v n
SEE  2OD8S) BE 20D
ST o 180k 65
(1) e ood angs )
ROSR WOS HrBmro
(3)  erdwod OEE
(4)

oD od Awers
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GSM1G100 {10 -
3 - fogredn o
: |20, (Body REpAnss
20. ?-141:: the following books  with  their S ocberd* zo6b Tabod : 3
authors ;
AdroSa@séd 1 a0
a. Indin 8t the Depth L Trfan Habib n. E‘; i whyes
of Akbor ) -
b. The Agrarian 11, Prancois Berniof b & ﬂLﬁﬂlﬁiﬂfﬁ h}aﬁr IL. @'55.353'5
Syetem of Mughal s Hyuids FodalT, By ab
India, 1556 - 1707 ) 1566 - 1707
c. Travels in the T, Willinm Feates 135 w0 O id gy DD
Mogul Empire : = 0B ! irah
A 1656 — 1668 &-ﬁ lﬁﬁﬁ—lﬁﬁa
d. Early Travelsin IV. Morelond L=
India, 1583 — 1619 d 20 L@rﬂfﬁj =] v, arb dob
Choose the correct snswer using the codes modor, 1683 — 1618
given below ; ; . Bl assaas Fhod idiriod 2B
- = S Sy docotod
@ v m o1 PPN I";“" =P
@ mo 1 v Ay S R
(a IV I 11 111 y
{5 @ a1 v ou
4y II v Hi - v 1 1 i
; R (4) I IV I 1
91, The -following historian contended that
NS — - shoire i foond md Ll
(1) Ralph Fitch 1 t"ﬁﬁﬁ ;‘*gaﬁ
{2} Tavernier (2) &y F:.
(3) V.A Smith al.al, : s
(4) Fergusson (4] _ s VR
gz \Bcd iR en sSododa
po.  Match the following with the year they Ao yane s s Hrchdn :
wWIETE I'mmi!hhﬂd i e Em% Eﬁ 1. 15881
Famine Code . L 1881
: Vernacular Press Act . 1378 b FASTh Hds L0 Il. 1878
| . Charles Wood's Despatch on  TI1. 1883 e DA O el
o | Education ot 111, 1883
. 3¢t Factory Ast V. 1
\ P Sy d. e 88 S V. 1854
5E : Answer usin )
given below §feedes| DS DAL Fhes anmrniod B89
a b e d ;u 2 i‘ﬂﬁbﬁ‘ﬂnﬁ-:
1 HI Iv. 11 I _ e d
{ (b IS 1y i I
z) 1 0 N m f
(3} v I 11 T IV
I, L i

1 1l
mII Y I

e ..
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Arvange the following ineldents of Welwllion
agninst Eost Indin Company i e Stide of
Hyderabad in elironologien) ardor

1. Ainck of Turreloe Khon on Drithsh

Residenee in Hyiderabad

I Iwprisonment of Mubarizaud-Dauln in
Gulkondn Fornt

L In Aurangabad, 1" Condingent Cavalry

wns snspeeted, disnrmed nnd arrestod

IV. The rebellion of Rojn
Noyaka of Shornpur

Vonkntnppn

Choose the correct nnawor using the codes
given below

(1) IVILLI
2 ILIN LIV
(1) 1L L 1LV
4y LI TV,

Mateh the following Presidents of Indian
National Congress with their meetings :
a. Dadabhai Nooroji 1,  Madras — 1887

b. Badruddin Tyabji 11, Bombay - 1889

c. George Yule 1. Allshobod - 1888

d. William Wedderburn IV, Caleuttn — 1886

Choose the correel answer vsing the codes

) given breslivwe

0 b e d
Ny M T
(@ Il v
@ I sy
(4) 1 I .y

11

24,

(2]

20, vy wodclr dowofll Siaddor ardomard

£ ) e sAthrharen AOFneHen

el fanorr o3¢ v dhasiag ¢

L FErooeerd) 'R 0T S (D680
T s A R AL

1 Mo B’ duerd et erd tod
RISV ILATS)

N, Ddorard &0 Doce i Seo,
eofnAIRoS Dordindisnm 5 el
e T Ty

IV, &fowgeh § Sold oerliobtny gl
addafherey

B @b 588 FHod aadiriod 385
AP Y ool - h
(1) 71V, 0L 1,11

(2 ML L1 IV

1L, 1, 101, IV

4y LIV, I

\Hod zrddh ereloh mo|fif wdiidy o0
RAdramed pd S
n, OO AT I Koo - 1887

b, @S el 1 Sowon- 1889

e 20 diE [ esexsiterdd - 1888
LS Tsv iy IV, Sex58 ~ 1836
G0 by

AhS 2088 Wed asariod KBS

RErGrRR) JotoTod

i Is o i

1 1 11 1 1

2 m n v

@ w1 m
b u moW
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']
T}.m rﬂ“mii“ﬂ bock was translated by Gandhijl | 25, Bod Huss modd S&hdan 295
with the title Sarvodaya = NSB0D06 D& ;
(1} John Rugkin - Unto This Last @ 2 Grag i - o dn A% erhy
{2}  Leo Tals — The Kingdom of God 5

i i Within You @) ; mj.;ﬁa Sy - &%cis ey el
(3} Karl Marx - Das Kapital & LEIAS g
) 268 Arb = nad
(4} Maxim Gorky - The Lower Depths ) RE
M) Sriado By = & &b Ey

Match the follewing newspapers with the
persons associated with them :

a. Indian Sociologist 1. Virendra |
Chattopadhyay

b. Islamic Fraternity 1L Shyamji Krishna
Varma

2. The Talwar M. Muhammad
Barkatullah

d. Swadesh Sevak IV. G.D. Kumar

Choose the eorrect ANSWEr using the cpdes

given below :

a b [ d
1y 1II Im I Y
2y IV i 1} I
3) U v 1 1
(4) 1 il 111 v

The idea of Indian Constituent Assembly was
put forward for the firgt time by

26,

(1) Dr. BR. Ambedkar
{2y CHR.Das

{3y G.B.Pant

(4) MLN.Roy

27.

Bod STODSEnd, oels ADROS00E

apined 2eb I 7i80 ¢

o wodabd L DTS
FFacireath SE T

b BN 8383 11, The0 28 Haases)

c. G derth II1, sodrainy &

ala} B AT

d, ST sE IV. 24 %505

O Ffadd Shod addEiriod 58.5

RS JoTuEos - i
a b C d

@ I -m 1 v

2y IV 111 11 1

(@ I v I 111

4y 1 | 111 v

PO e iof 2a8 e BSNo Todasm
S00LNE By x Ty

(1) & Db woma,k

LN

@ 3D 508
) 0DE orer

T
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Match the following authors with their
works :

a. Al-Biruni I.  Tarigh-i-Firez Shahi
Tahgig-i-Hind

111, The Rihia

IV, Tabagat-i-Magiri

b. Minhnj-us-Siraj 1L
¢, Ziauddin Barani

d. Thn Battuta

Choose the correct answer using the codes
given below :

{13}

28.

a b C d
(1) I v I I
2y IV II I I
3) I v [ I
(4] III I v II
Which of the following institutions were not
established during the Non-Cooperation
Movement 7
L Besant Theosophical College,
Madanapalle

II. Jamia Millia Islamia, Delhi
III. Kashi Vidyapith, Benaras
V. Aligarh Muslim University, Aligarh

Choose the correct answer using the codes
given below :

(1) I and Il only
(2} II and III only
(3) I and IV only
{4) Iand IV only

The Indian Independenpe Bill was introduced

in the House of Commong by the British Prime
Minister Attlee on

(1) 20d July, 1947
(2y  3rd July, 1947
(3)  4th July, 1947
(4) 5th July, 1947

29.

30.

Bod ogrod o8 Sdondad 2
aO0E0R0 |

n.  esd-Din 1. =rbp-a-ndlf

araT
b, DodF-ad-bod 1L érid-o-trols
e. AdiradSaoch I & Birer
d. 22 2dndd IV, dapid.m-Sno

&b asjadd Fhod Sh3Eriod 205
RATETRR SothE o - -

a (] L] d
@ o w 1 1
@ v 0 1 I
@ 1o\ Jw

I

HEE 3,

{4) I I 10

RAFah  AoEsESh  Sddbod |12oa
Rodod’ 2D Ahod s

L D%of HTrahEs soie, Sadod
L zrfocse ddir 9rmdr &6

L. 5% 2crt o6 SoEh

IV, edind fofo drdss s sdns

G Wdgadd Fhod aadlrhod A5
R cotTod -

(1} TSbcio IT &ressl
(2) I Sobcin I Soesh
(8) 1L SBcs IV Smesah

158050 IV Spa

oS FB0IS) Depey (Hefn HED B8
TR eh eSS & b 805
RRERTO

(1) 28, 1947
(2) 3a&~8 1947
(3} 4z 8, 1947
5 &8, 1947
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[ 14
Part B Pl {
Constitutioy, Polity, Social Justice and P harga s, rdd, #AS b wol
Interngtignal Relations ot BHAS S 8545,
Which of thy pojwing tatements is correct 1
with n-mtﬁ“ 1;:mgtm State  Finanee|" ?;'l'h o SoRrRS Rouchod o
l‘{!mmis,ﬁiﬂn i Lﬂﬁt}.ﬂtﬂ ::Iﬂ ﬂgﬂfﬂ ?
L ltis Teuired to appoint a State Finanee I oy utird o efs FIONTRY
Comimsgion omoe in five yonrs, moboood) dotuod,
IL :LMT:n;mnmmismtmmd::lj‘:;“;;‘::d :11: Il Socrand, R Yo fronons
AR, duipes, tollz ® ¥, o, ,
the Panchayats and Municipalities, IR 690, nﬂﬂf‘ﬂh. E'de, Coraanes i
UL Antice 943 deals with constitution of Affowodidop 2l F:'?ﬁ:'-] rod.
finance eommission to review financial 1. Socraitle esBE Dl
.. Position of Panchayats. Aanf odarnl Hooronee aalE el
t‘ihﬂﬂal:&ihb correct answer uging the codes PR -;JEF"_].I.!J:I{L} B8 049
given below -
(1IN and IV 50900, .
(3 Tandil WETRR) dothTod
(40 All of the above 1, T B IV
(21 1, 1T SoBotio 1
Which of the following Amendmentish 8] 1-nbdin 1
provideis) for reservation in jobs *and @ E:}fﬁl
admissions ? 2. aSmresmdings Dalns efho Son
(1) 77 r RCEi)S D6 S8%008 7
(7 gomd ' (1 774
(3 s @) B2
(40 All of the above (@) Bl

Consider the following Assertion {A) and
Reason (1) and choose the correct codo »

Azserfion (Al : .
The President is the exceutive power of the
Linon,

Reason (R

The execulive power of the Unidn shal] be
vested in the Presidont and shall L
pxercised by him either directly o through
officers subordinate o him in necordaner
with the Constilution,

Conde
(1) Both (A and (]) gry grye el (R dg ghe
correct exXplanggipy ol (A,

Both (A and (5 re true, but

the correct explang i of (A,
(A i true, by () is Minlse,

(2 (R) Ig pot

(L

@ R
g3, %08 a¥de () MOy  smo (R)
a0fedosed, S P55 Jodtoa .
st (A) ;
ULRDE  elrnchS
@RTE0 §ON Hoend,
a0 (R
ohrdald SR e o
o paal aﬁ;mﬁ:;ﬂﬂ. ﬂ‘ainiz
@500 e Ber 8% wdhsod =03

el .
s IO eaoen .

@ (A) (R) Bogp
hﬁrﬁm’:ﬁm
(20 A (R Bogp flzo,

(AJS) 5B D5 o
& &5,
W) aso, sy () 3.

peitalanl s 4

A0 (1) & (418,

s (R eFa

(!
(40

) (A s dnlso, by i8 Lru,

(R} fza,
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3.  Which of the lollowing statementa rolated to| 34,
the Central Administrative Tribunal are

correet 7

L It is a statutory body,

. Is members are drawn from
administrative hackground only,

HI. T is mot hound by the procedure
prescribed  in the Code of  Civil
Procedure.,

V. Its jurisdiction covers the members of
All-India services az well as Central
services and Central Government posts,

V. It was set up in 1985.

Choose the correct answer using the codes

given below :

(1) IILIMland ¥V

(2) JandIV ,

i3) IIIIVandV

{4} IIand Il

36.

WWW.SAKSHIEDUCATIQN.CQMe. & me = = - = R ' v -

Which of the following statements is not one

of the powers of the Speaker of the Legislative
Asgembly 7

(1)
(2}

He has no veto except in case of a He.

A Speaker may be removed from office
by a resolution of the Assembly passed
by & majority of all the then members of
the Assembly afier fourtenn days notice
of the intention such a
resolution.

to  move

ceases to be a ﬂ'iﬂml]er of the Aﬂﬂemh]]r’-
The Speaker wi] Preside when &

(4]

under congideratiy, of the Asspmbly

w0o|td Wi G (E3znghdiga
HonodHo Bod paS HDAD DD 7

L 3 SHa0d mod.

I &2 adged H8dros B0 Dob
Sriesah Sinbontrts.

wd D6 |Fheb ¥48 Ardodd
SRS BEnadd crodict.

& wOTG HOO e irdd Taded
artn Bold  Rden, Sold |Habey
Zrpe Ao £55 Faoa,

20 19858 Domytn Sobadod.

& adimds Shod sH@rlod A0S
QeI SotHPods .

(1) IO, II1 S8ty V

(2} Iandchn IV

I, 101, IV Su8cio V

(4) TI obcin M1

I11.

IV,

V.

fod 44 O D803 THIas %8
wAToree .58 oy 7

(1) B SHdoohod d5y wadE 5 d,

(2) etndod Soprny SdTDired
55108 14 e Jd Sous
eSS0 @ned Ao
ozrdd eRracns enod Souso
ot M5 & 58D &od
Sofodawdadcy,

086 eRodE pmAr Goddo
eAdE & HSDD grd Tk,

DB 2B JMod Ssw Sofod
B0%0 shod) Hagerd aiId
056 B8 S Sirarta.

(3)
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The powers of the Eloction Commisalon
include which of the following 7

L AN ot Commission inkon
ﬂﬂ::iuinn‘:iz:tﬁﬂ pspect of conduct and
control  of  clections from  the
announeement 0of  elections o the
declnration of results. -

1. During the election period, the Election
Commisasion can order the Government
to dismiass somo government officinla,

M. When on election duty, Governmont

officers work under the control of the
Election Commission.

Choose the correct nmawer using the codes
given below

(1}  Tand 1lanly
{2} 1and 11l only
(3)  lanly

(4)  All of the above

What isfare the provision{s) to safeguard the
autonomy of the Supreme Court of India 7

I.  While appointing the Supreme Court
Judges, the President of Indin has to
consult the ChielJustice of India.

II. The Supreme Court Judges can be
removed by the Chiel Justice of Indin
only.

Il The salaries of the Judges are charged on

the Consolidated Fund of Indin on which
the legislature does not hove to vote,

Which of the statements given above fgfare
correct 7

(1) 1and I enly
(2)  1andllonly
@ 111 enly

) 1L landlIll

(16}

a7,

M. d3kes Heyns wiiroe fof o8d

S HON oty 7

L afybe s dbod ere) (8L

Sy D00 Miire,  JMybe

Aot A0B0HOHG - D8
wofoR SN0 Dodvo dfairen
elinotuod.

L amyfe  Adobod, rosdod
Wby whFhOD - Sohomrod
ey de fiTa 4 To] ERTLTER
AL TR TRV R

ML 80 AOY )i, (Db
w5t PSS D00
Dabolsad’ HaTrd,

Sz w8 FhoM aadEriod RS

Rarerard) dothfod

(1) 1 So8cio IT5meEh

(@) 1500w 1 Sz

(3 1imsh

(4) RSy

ardsh  Ado  F@  Habopanadd

HOBE0T Daodsien) Dnues 1

L ot mrcbsrded

RCOTErsy 1k, ardeh oIS erdd
RS oS HoHbondeh
SotNod.

Il ADOEDH rpahsardyesds 26 (HES
50058 S8 Sefodiod.

UL 99 22 440 Fcherhd e3050 BA
208 EFAOH LS Hob Mob 260
Ay BOY,,

20 200 PaToserd' DO

ABROIRBAD 7

L 98 111 et

| ﬂﬁﬂl{ﬁm 11
111 ..'6.];-@31 Mg

L h}ﬁm 1

(2}
()
(4)
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Which of the following are not included in the
original jurisdiction of the Supreme Court 7
1. A dispute between two or more Stoles.

I. A dispute regarding clections to either
House of the Parlinment or thol of
Logislature of a State,

1. A dispute between the Government of
Indin and a Union Territory.

V. A dispute between the Government of
Indiz and one or more States. :

Choose the corpect answer using Lthe codes

given below :
(1) TandIl
{2y IlandIIl
(3] landIV
(4) I and IV

The WNational Commission for Scheduled
Castes, while investigating any matter or
inquiring into any complaint, has the powers
on the following matters :

| It can receive evidences on affidavits.

II. Tt can requisition any public record from
any court or office,

I, It can is5U€ summons for the
examination  of  witpesses  and
documents.

Choose the correct answep uging the codes
piven below :

{1} 1and II only
(2) 1land Il only

{3y I and Il only

I i4)  All of the above

[17)

[A]
a8, fof a8 06 Mbotth e woFd
HOmG DG paT 7
[ Bofk o sosiofs JEopd o
andSs ShTiho.
[ oty Sor Ol TRHAE5 207
Dayy dertiy HOVOQOTHS DTOO.
L  zrde (Hibebto, Sodards |@rodo
Saehp Do,
Iv. zroed (HZbesgo, 288 dor wosioh
Joys orlarer s dardio.
S 2sdd Fhod add@irfod HES
HArorTRy oo
(1) IaSBcin IT
IT 56w 111
(3 I oddin IV
(4) III codaio IV

39, narS Sere arech foas, 2Bw

DACiFR)  AEOAGINNG TO JER

Do Aot Tapdyaad, & (fod

wored oOFood EO0 sotuod

I D6 srroren Foddd),

I. 287 ¥ do sopecdho wod
2 HAE BedS evfsBotaci).

I #rfoen, HEre H6%0s Fho Dy
a8 Tabaein,

Ohsd pdsndd Fhey asairfon AB&
RATTIRIR ] WotHEod -

(1) 1Bain I Sray
(2) 11 &bcio I S, ;
(3) 1 5Bcin I Sre,

259y
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40,

41.

{1B)

Consider the following Assertion (A) and
Reason (R and choose the correct code :

Azzertion (A) -

The Parliament of India consists of the
President and two Houses.

Reaszon (R) :

The President is a part of the legislature
even though he does not =it in Parliament
except for the purpose of delivering his

opening address.
Code :
(1) Both (A) and (R) are true and (R) is the
correct explanation of (AL
{2} Both (A) and (R} are true, but (R) is not
the correct explanation of (A),
(3} (A)is true, but (R} is false,

(4) (A)is false, but (R} is true.

Which of the following are among the
Fundamental Duties of citizens laid down in
the Indian Censtitution 7

I. To protect the weaker gections from
social injustice.

II. Todevelop scientific temper and spirit of

ingquiry.

[11. Teo preserve the rich heritage of our
composite culture,

rv. To safeguard public property and adjure

violence,

Which of the statemente given above gre
correct ?

(1) 11 and Hlonly
(2 Tand I only
(3 I1, 1 and IV
4y All of the abgye

[A]
40. %08 &yhddm (A), s6mo (R H08dod,
S8 Fh JonTod
Godstm Al :

41.

ardes  ardfbodnd  oans, Dok
MEien gpodron.

sd@o (R):
rana 4% |2rdod |Ddofio FHo &)
S Totnds SrEhoneE TRsoHS’
arhio.

ghew
(1) (A) (R) DO A0 (R) &R0 (A%
2D DI,
@ (&), (R) BOGF 230, 0 (R) e9T6 (A)
& HBS DSBE T,
(3) (A D20, TR (R) )
(4] (A) €833 SR (R) M0,

arded  oramofiods  20%008  #rthe
Ereaed D Soa e no aryon T

C L rarsE esaricho  dod  pelrd

s e 68 otido,

I T(Roh  $y8yho, Dordm  Ar)aR
woirofoddo,

s06d SRH) Dok es fay sdoein)
sardtan,

I

V. 122 sods 5800,

w540, 1
2O IS PeTosed DO HBSD 7
(1) T 8o 111 S
() Ta8aiy Iy gy

A Ordoad

1L 1T SBasyy 1y

(4) Sy
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(18]

Which of th fllowing entelen of the Tndian

Constitution deals wit the bnatitutions fop
R T T

th
manl

o techniesl eidveation Ananesd by
Governmunt of Tmlin, wholly we |y e,
. lthwlnwnl by Parlioment, by law 1o by
mEtitations of natisnal importanee ¢

1 Entey 64

(2 Entry 63

G By 65

4] Entry 668

Who snid “Indin & nel o nalion in the
traditionnl westorn sense but o eomprohonsive
culture of continental scope eomponnded of o
very large wumbor of linguistic and religions
entities, highly complox and often strongly
nntagonistic local eultures” ¢

(1} Carl Friedrich
(20 P Appleby
B Woodrow Wilson

(41 Jdownhorlal Nelira

The Constitution  confors  which  of  the
following Articles that denies the rights to
aliens (FPorcign Citizens) 7

1. Articles 28 and 30
1,  Article 19
ML Articles 23 nnd 24
IV,  Article 16

Choose the correct answer using the codes
given below :

(1) 11 and 11 only
(21 1, Il and IV only
(@ 111 and IV only

'wwdv.sAksHiEDUcaTion.boM |

(4]

13 18 oargoiod'n fod adE' 1Sy S

ArONBE D $aa prded |@zbebro SO
g0 ffor  Deben amdofirdornosd,
EEOED Drdumes £ONS HORENT 580
orgor ardibotnd WEdtodndon ¢

@) doied (e o4

(2 doel ($ard) 6a

() Doled () 65

() Doed ) 66

1, “ardetiio Yrodardh e a; o a8
Bio mh, £d orer o Rops arer,
SOSIGTHA e sen, wehiog S Y

SO | o@d  DOGDHS 0
RoRhed SrdS nomress A0a sl
ROR S 887 DSt Tar s v

(1 =5 mas

(@ S, e el
(@) HE Deys

@ 2aarberd Hem

4. B ot THyes HoEbed Bos o
wRESmedD orerotio |Hovo Dhod T

L Q8 29 8ciw a0

Il eslse5 19

L esse5 23 SaBck 24
V. wfsd i

Qs @ 5085 Fhos anariod HBS
NPT Dothod -

(1) 11 5Bt 1 Sma,

111 280w IV Sreszty
3) 1 SBaww IV Sty

(41  All of the nbove

W) DI
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486.

47.
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Consider 1he following statements ;

L. The Preamble was enncted bifore the
enactment of the entire Constitution,

I The Preamble is o part of  the

l:'."-'t'nl'l.sii.l.ut‘;nn but has no legal effect

independently of other parts,

It i voforcebls through Courts of Law,

The Objectives Resolution by Jawaharlnl

Nehru finally became the foundation for

the Preamble,

Which of the statements piven above are
incorrect 7

118
IV,

L Tand 11 only

(20 11 and IV only
(3 1 and 11 only
4} L, U and I only

Which of the following statementla) isfnre

correct 7

1. The PM CARES for Childron Schom
was launched by the Prime Minister of
Indin on 20t May, 2021 for the children.

1II. It nims to support children who hove
lost both the parents or legnl gunrdinns
or andoptive parents or surviving parent
to Covid-19 pandemic,

Choose the correct answer using the eodes

given bolow :

(1) Both land 1l
(2} Neither I nor
(1 ] only

(4) 1l only

With child labour being made illegal and right
o educition beecoming a fundumenta] right lor
children, this right agninst exploitntion hns
Locome more meaningfil,

Which of the ﬁ'""“""“ﬂ poirs of Articlos provide

for- right to education and prohibition of ehild
labour respectively 3

(1 Articles 21A and 23
(2y  Articles 21 and 24
(3 Articles 23 and 24
() Articles 14 and 1p

(20)

A0,

A,

47,

@

(4]

S0 |mttcdas adfdodod

I =08 Judo orariofio ensoends'
oot Grdrofoddod,

1. =88 orarofiod L8 2rfo &n nad
arreds onodo Boor
A (210 exode,

HL @b agabyrare oo edien
cicbhaddod,

IV. 250 M oge Soyso
D05 HOLL Iy Srbod,

28 RO HE (DEtded’ 06 a7

1) 1 S0c 1 dr st

(20 11 o0di 1V drach

@) 1 506ck 1M sresid

(40 1 10 SoBako 111 dretsh

Bod Hftded’ DAmD HBIA T

L oo o .00, 96 b S 20 1,
20214 grded (6N ErocDo o,

1L H28-10 Sdrde 0 somorr
Ddolthen Blar Sendmng
RoGE Sen Do Gt ity
SDSoden Sor Bhod ad)
SGo|thed F'dhons heats
auiyels @8 0 A e o,

Oba mtadd o ai@rhiod HDS

AR dodfod

I <afcin 1 Body

I sulain 11 Bodr o

ISR

I bl

ey S0 Sradd denmoo ddbdo,
DO B heok  (Sgod S
Srodod, dhAs sanior & by
:u-umli wQSodom Srbod,

08 © ad Hgaren Sddm DO sy,
are B0)e Aherdy wodion ? '
() QG 210 2ty 29

(2
n
(44

@) OQES 214 S50k 24

@ Q8 g <ot 24
@ 8 1y ot 19
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GS/16/100 (21} [A]
48. Consider the following statements regarding | g o 50 a8 8 Somafod (S0 DL
GET:
I afdtidodod .
. GST will bring more transparency to - "
direct tax laws, L Aond D ddny  Wed
II. GST was the 1227 Constitutional 8o arbe03 SRol.
Amendment Bill introduced in the I 2048 Dol & SFiaga
Parliament. 12225 orarof et He,

49,

II. GST is a destination-based tax.

Which of the statements given above isfare
correct 7

{1} I and Il only
(2) Ilenly

{3) Il and III only
(4} 1,1l and ITI

Which of the bodies recommends the
distribution of the net proceeds of taxes to be
shared between the Centre and the States,
and allocation between the States, the
respective shares of such proceeds ?

(1) NITI Aayog

(2) Finance Commission of India

{3) Inter State Couneil

(41 Natienal Development Council

Which of the following is not the function
of the National Commission for Scheduled
Castes 7

(1) Providing constitutiong] .
Seheduled Castes, protection

(2) To submit the repory 4, i i
Minister related gy ¢, kg
geheduled Castes, & protection
intercsts of Schedulag Eiﬂﬁ#lulﬂms

4y None of the above

49,

0.

it

m, AJ%48 eoFsfhio emds Hd).
28 B0 SHEES08 20 HBSAMBID?
(1) TsuBdtin IT Smgbsl

(2 I amesh

I Sofcity TIT &l

(4) I, 1T anbaio II

Hoidio, o rer Sty Hochlrdys Hidne
N80 worairdy Sobd Tdred, oo

Sy Serowolyen, edded oad
Ronofd  irods 2S00 L

0l 1
e ek
@ 2P B8 Hodo
(3)  esodos) dodd
(4) eacheddyd Load

So8 78S 2O DamS Lo T
S0 D T 7

(1) EMG Seredy ool 059
EDoddo,

@) nariS Sere sgeg Sonododd
NAIBE IBErS o B8 Hd oo

B RAMG ey POETON
GQowod NEp fam OO
oo,

[4) 2530 =
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GS1Gipn (23]
B Whih of the fypeing is 7ot 8 function afthe |81, 805 it cfancind H05 5815 €553

Union Public gryios Commission (UPSC) 2 (i 2 Mo, DB SH6 007

I Conduy pyaminntions for appointements 1 clirdaks Hdus dolrise §do

10 the goprope of the Undon ubi o DY Y00

%) Consulygrion on all disciplinary matters 121 el Gl dadran’

i3) Methog of pecruitment F'Jcrérl;.ncl:am i -

W) Manner of posercation ﬂe!v.,-ﬁ'.ﬂr:l-" iats

62,

Which of thy following eubjects are listed in
the 11 8pote?

@ﬁﬁﬂf

g 8. Bb o8 13 uamds whe
en and Child Development CbanAS 307

M. Public Distribution System L, 3 edid

I Tirariel I (e Holi Spded

V. Sl Improvement and Upgradation I, (fiogrecires

V. Markets and Fairs IV, snbiards Eﬁﬁuﬁ i SH s W

EL]::?;!E: correct answer using the codes V. Ardptw, zréd

0 Liwds Lo e, o008

@) LI, Mand IV (1) 1,1 Sodcio v

(@ LILMandV @ LI S8cia v

(4} All of the above @ L 1L, 101 0Bt v

Which of the following statements igfare W Eml

correct about the National Green Tribuna] 1 Bl Ll'l.ﬁ l{tﬂmﬁhﬁ fBond el
I It was set up under the National Green wEtdad 8 AT,

Jriggate, 2010 " 30 F86 |05 BansS S8, 2010
1L~ NGT is bound by the procedure laid 900 oty Hemadon,

diwn under the Code of Civil Procedure, I J3a4 hng &rhab €5, 1908 o5

O0E.

1 : ﬂ-?uﬂ.ﬁ ST dtued aotmod,
I, NGT has gix places of sitting threugheut 1. 248 By e

e ik jHom uh BEred
Choose the correct answer using the eodes Brod admas ¢ ;
g Sircght ﬁu&m. 820D 303
(1) lonly @ I g, I
(g I1and MTonly @ 1By, I Sty
@ 1,Mand I LI S8
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GEMGN00
54.

With reference to the Protection of Human
Rights { Amendment) Act, 20189, consider the
rﬂ“ﬂwing statements about Mational Human
Rights Commission (NHRC) :

L. Judge of the Supreme Court can now be
appointed as Chairperson  of  the

Commission,

. Term of the Chairperson and members

shall be three years,

1. Chairperson and members shall be

(23)

4.

eligible for re-appointment.

Which of the above statements is/are correct 7

{1) TandIlonly
(2) I and ITT only
(20 LHandIII
(4) Tonly

With reference to the National Commission for

Minorities, consider the following statements :

L. It was set up under the National
Commission for Minonities Act, 1992,

II. DMinistry of Welfare has notified five
religious eommunities under “Minority”™
status, to date.

III. It can make recommendations for the
effective implementation of safeguards
for the protection of minorities by
Central or State Governments,

Which of the above statements are correct 7

(1) Iandll only
(2} 11 and 111 only
(3) I, Il and 11l
(4) Iand III only

e

[a]

SraS frfoye HOGER (AISR) DO,
20198 Jo20f00), 2rach ST arse

EMad (o8 ardebh) Hoodd Sob

e Hfdotod |

L dmoSdh  arpdishrdd  =smadh
rpas ShH6IST Achodsh).

I, gbasys Sbd Aye HSHsw0
S AoSS o,

nr. ghadym wbdn.  SHibjen  AOAH
Notrdsn s edden,

D DESeS I8 HBSO ?

(1) I Sofcio Il Sresh

(2) I Sabcio I Sorebah

I, 11 ZoBako 111

L @) 1 amed

arach Doartdle EnaS% Scmofod,

808 HELSe5 HO8BH0S0A |

L 26 oot rach $20a5 oo,
1992 | 5500 0 340 Sohndos,

L H0Rd SoBd; o mn38 S65
Db o Todd T80 Do
o Sod ST Shod.

L =8 %o Ty ol |SdEr e oo
Drdtlo Gfnm oo asgSodom
esdneyy dabhords ARy
Sobfedn,

B DEused D8 HDsa 2

(M) 108050 11 Ared

(2) 11 %6am 1T Smed,

(3 1,11 So8akio I

I SoBain 1T Smead,
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55 i (241 [E
mntly, b, = =i # .
frcl]_'l..lﬂ'ﬂ!:h- t-:; torm ﬂ“fﬂﬂu Cnn‘:.:.“ﬁ"“' im G, ':E:"':E:J'U. ‘E:]H‘If ﬂﬁ;’. -."':.-,...ll ﬂ;\-}_-_j p-..?":..r:'-_.i ﬁ"-'\.:'!-r.:l‘r;r
fiol] *h in the news. Which of the A e toen ol N\ B D
OWIBE Sector is it assecintod with 7 Gl gnbipod, Lol g |
‘1) Carbon Capture SOmrDE sodon G T Gl ?
(@) Civil Avigtion (1) S efaah
:21 Merchany Shipping @ o SSrS oS
orofluprocarbons @) e Troledsh
57. Witk tdy SHFHCTD
Gummis:ituﬁmm o the  Competition s
tshh o) of India, consider the following | B7-  Tolén g e o) #3875 L S o g T
L It is n statutory bod ¢ DODOLOD, SO EEs T A
Competition, Aet, 2005, cr 000 e L 20 sobs8al wes, s G HOE005
the  Competition (Amendmont)  Act, oS (Aidsm SAn, 20T i ]
= ffﬂtl'?. arsle i B Rt AT e A
* “t1Lt ﬁf::zl' of a chairperson and five I Doded” Boids 1Hebden Sotroome
Eﬂ"ﬁmmnﬁ?mnmlﬂd iy R 2hD0L5, Dbl SEhen moere
Which of the above statements infare 7 = phofad” DA anas y
(1) Tonly o I Sl
(2} 11 only 12 IT SSrssin
(3) BothIandIl 3y 1 Sobcio 11 Booas
(4}  Meither I nor 11 4] T8N e
G8. National Bank for Agriculture and Rurg | SO0 638" D 2rned formn s wo w =i
Development (NABARD) was estoblished on BL NSl wol drcd = i
recommendation of which of the following (el rhodandon 2
Committoe ¥ AT Eopal
(1}  Bivaraman Committes (2) RDo=rdo Emu
(2)  Santhanam Committes @) Do OaST Eoned
(3)  Sorkarin Committes W orEdorra B Eined
4] Rajamannnr Committes
50, 'gh;':.c:c& BB neme, 2ol oSt o
68, "Warld Competitiveness Index’ is relonsed by OF doches Tanos 7
which of the fnl.l.‘ﬂ\ﬁl'l-ﬂ ﬂr‘__,'ﬂn‘i!ﬂtdunl ' | “%waﬁ :}5 &Hﬂ.xhﬁ T o =
(11 Institute for Monagement Development et — ey
(2)  United Natlons Development Progromme (2 miﬂ“ﬁ;-ﬁh:ﬂa v
3 i -
i3} Warld Economic Forum G eadhors mahs m;"‘-t 9 FEpER0
{4} World Bank (S LI T IR,
B, Eeless s
60. Hautilyn categorizes the Governments and Lokt T
Heads of Departments into 18 gipghus 18 *liw‘m"“ SRS oGy, Mfti"‘ "‘“E"“""‘"&f',
Amongst these “Dandnpala® ia the I T SO
{1} Mngistrate A o Hoam
21 Chiel Council of Ministries W Saon OB as
(&) Officor of the Army Department TamyE San ﬁﬁ'ﬂ-.m
(41 Guardion of the Forts A &3 Ao "f::‘:ﬂ
- A
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Part C

Indinn and Andhea Pradesh Economy and

B1.

Plonning

| 26 )

Given below are two stntements, one Inbolled
as Assertion (A) and the other lnbelled ns

Reason (R). Select your answer from thoe codes
given below,

Azsertion (A) :

There iz a structural change in the

composition of National Income in India.
Reason (R) :

of epeonomic growth was
initiated in India.

The process

Codes 1

(1) Both (A) and (R} are true and (R} is the
correct explanation for (A

(2) Beth (A) and (R) are true, but (R) is not
the correct explanation for (A).

{3) (A)is falee but (R)is true.

(4) (A)is true, but (R)is false,

The economist who said that the “Net Social
Product and the Social Income are one and the
game thing” is

(1) Adam Smith
(2)  Alfred Marzhall
(3) P.A. Bamuelson
(4) J.R.Hicks

[A]
o>

woBdhS wols eold (HEH Jrd wob

arRof

81, |B0g Do |HEdden 20560 sBRof, L8

Sahsden (A, 088 somo (RMF THeads
S nS0os, B 28 2o Bho dod LV

Adrorarmy oo,

Sadsden ()
restiod o aoobo 7S
Do e 18 Srh y ol

sdeo (R) -
aroafiiod’ @B 50 (H8ah
ErdoZiziod.

Ehen:

(1) (A} oScin (R) Bodr dzo ndcin (R)
esrid (A)8 2B D556,

(A) sobdin (R) Dodr D=0, 50 (R)8

{A) A0S D06 5.
(3) (A) &a33, 50 (R) DE0.
4)  (A) Do, T (R) S3y.

“DEG ArAras e Apdred eodho
Bodr 268" e T3 absds

(1) eachdy 28
(2) wd@b irdd
(8) D rdarSos

Seb orEy
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Given below pre fwo statements, one labelled
a8 Assertion (A) and the other Inbelled o=
Reason (R), Select your answer from the eodes
miven below

Asserfion (A) »

Per Capita Income decrenses in o
developing country oven though National
Income increases.

Reason (R) :
The rate of growth of population is higher
than the rote of growth of National Income.
Codes:

(1}  Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

i2)  Baoth (A) and (R) are true and (R) is the
correct explanation for (Al

(3) (A)is troe, but (R} is false.

i4) (Abis false, but (R) i3 true.

During which Five Year Plan was the rate
of growth of Gross Domestic Product the

highest 7

(1) 9* Five Year Plan

(2) 10" Five Year Plan
(3) 11" Five Year Plan
(4) 12" Five Year Plan

Which of the following is mof a feature of
MGNREGS?

I. Guarantéed minimum wage employment
I1. Rights-based employment scheme

I11. Generation of wage employment in rural
areas

IV, Provision of nutritinus food

Choose the correet answer using the codes
given below :

(1) I IlandIV
(2) 1, Il and IV
¢(3y 11, Il and TV
(4) I, 11 andIII

{ 26 )

3.

[A]

\Bod Bodh |HEdden 95550 20R00. 2,583
Sahese (nem, HEEY  s6mo (R
FHends Dobadod. Ohd adseds fhe

Li08 By saroed) dochfod.
gadsdes (A :

wrdioh eordbo OAGSSE @Sy
Sotadady DHod' dond aodbo
ehipeiaod, !

oo (R)

erach oordh S98 Din o a2y
LS Den QS o,

hen

(1) (A) S8cin (R) Oodr Dzo, SR (R)
o (A8 HD5 Dt i,

(A) <08din (R) Bodr o <o0oin
{A)8 (R) B D5 Se2.

ia)

(4)

(A) Do, ) (R) b33
(A) 37, 50 (R) Do,

D dossd  1Perdy swed  Are

eradires 18 OB enebs Ao 18 7

(1) 935 HoSSY | Der DY

(2) 103 Hodssd PerPE

113 HosSs e

(4) 125 Hoddsd Herdd

& 1500TRS DB IS ubasah,

ofndnsnHa?

L B0 J4s adrd o5

1L D sy 07078 HESES0

L e (Fodos Fssos Srdd
P Kesyed

IV, 2a5irdhns renSrda b
Albsd Bh A8 fhos SHErAod HDD

PP JothEod !
(1 LI &8s v

@ LI &8asy v
3) LI &80ty 1v

LI SoBaiis 1y
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What iz the age-group of higher proportion of

working population required for Demographic
Dividend 7

(1} 15— 64 years
(2} 18 - 65 years
(3)
(4)

18 — 60 years
15 - 60 vears

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

I.  To provide legal assistance to girls

Il.  Toreduce decline in Child Sex Ratio

IIl. To ENCOUraEe WoImen empowerment

IV. To remove gender inequality

Choose the correct' anawer using the codes
given below : '

(1)
(2}
(3}

(4}

I, II and 111
IL, ITT and IV
L IT and TV
I, TIT and TV

Given below are two statements, one labelled
as Assertion (A) and the other labelled as

Reason (R). Select your answer from the eodes
given below, .

Assertion {A) : _
National Income growth fluctuates with

fluctuations in Agriculture growth in India.
Reason (R):

Weather conditions, especially rains, are
uncertain in India, '

Codes :

(1)  Both (A) and (R} are trye

d iz the
correct explanation I'nr{h‘.u.an s '

(2)  Both (A) and (R) are true, hut (K) is not

the correct explanation for (A).
(4A) is true, but (R) is fa)ze
(A is false, but (R) jg true

(3
(4}

(27}

[A]

66. TAryrans AG086 TR0 @S58 (TS
2 o 208 Sabd)-dadrero
e)C0eh 7

@ 156 = 64 ra0aes yoren

(2) 18- 65 ;o yoren

(3) 18 =60 Hodeh joren

(4) 15-60 M0déoren

67. @8 aod d4 s ofidoen
Bobond' o 7
L ardiess s:-scﬁa-a:maamﬁnaqg:_'.
IL

reer Hon B8 Eoas El}m‘."n 4 :
IL  Serer arostdan 1 ) 2roe
V. Sof esirdded Sonlotody

& adsnas FhHos adTEriod 308
DEPTTR ot od | s

) 1, I S8cks 11
11, 111 S8k IV
@ 1,1 S8ck IV
@) 1,10 Sadcks IV

Bod Tod |DEeden WISGo =Ohod. 256300
GoRSBR (A) T, HBES omo (R
Sand Fabodod. Ahs adiabs Thal
0d 2 BIrETR) JothTos. a
GdSen (A) |

FOSDiod Spdardh 0 S0

rondhed erfich eocoh S8 0

TS HOES MBS E0s. |
S0 (R) ;

TELOE A0pdien, Supiom ST
BrOSDi08 wdTydom e o,

e :

(1) (A) BN (R) Bodr d2o SHOd
@ (A5 (R) B D S,

(A) 0305w (R) Bogr o, TR (RY
(3)

(A) Dm0, 50 (R) ety .

BES (A8 DB DS .
(4)

(A) &23), 9 (R) Do
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G3NGN00

{281)

69, Match the following :
List 1 List I
a. Trade 1. Primary Sector

7l.

b. Water Supply 1. Service Scctor

c. Figheries 11, Central Statistienl

Organisation

d. GDP V. Industrial Sector

Choose the correct answer using the codes
given below :

a b @ d
B 1 1 v 111
2 1 v I 11
(3 1 1 II1 IV
@) III | v I1

Which of the following is not included in the
National Income ?

{1} Wages and Salaries

(21 Tax Hevenue
{3) Interest Receipts from Public Debt .
- {4)  Profits of Public Seetor Undertakings
Match the following :
List I List IT
a. Iron and Steel I. Perambur
Industry
b. Jute Industry II.  Jamshedpur
e. 0il Refinery 1. Kolkata
d. Integral Coach V. Barauni

Factory

Choose the correct answer using the podes
given below

a b

c d
(1) 1 1 v 1
(2p 11 IV 1 11
@ ™ 0 ] 11
(4) 1l 1 v 11

70,

71.

69, & (B0 RN ek Daindn |
e | ardas If
no arfardaan 1, (argns Sofldn
b, Heaohd 1L e doddn

e SuebyrAoad 111 Soid fderold Koy
d. 2.4, IV, ardiFang dofio
s @s0ds §8ok ahilrflod Al

HAFTTR] oS ol ;
n b i« d
(1 11 I v I
@ u v I i
@ II I 111 v
4y Il I v 11

srdidirorabods F0068 & Sod and'
28 7

(1) Beddaanen Sobokin ddinen

(2)  DHedy escrcihdm

@ ibdr mwedn Sod Sy SO
o Ta VTSV

[4)  |Hhebgion Doder Hod I
EFEren

£ 1500 TR0 ad Dcludn
ardar ] ardar ]|

o WA, &y HBFS [ wdonrd

b, 2 570 H8F% II. 2G5 yh
e EAnd HO%oymES 11, TSk
d R Bey S V. 258
SOErS Soryrrddn
A D588 fhad addriod S8
RAFEITRY Dochead -
. b ¢ d
@ n v I
(2} I v 1 11
@ Vn 1 1
) KhE 1 VA
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When the Central Bank increases the Cash
Reserce Ratio, it loads Lo

I.  Fall in money circulation.

II. Low demand for goods and services.
I11.
Iv.

Rise in purchasing power of the people,
Rise in bank's lending capacity.

Choose the correct answer using the codes
given below :

(1) LINandIV
2} 1 andIlonly
{3) I.MandIll
(40 LHandIV

Statutory Liquidity Ratio is to be maintained
by banks in the form of

L Cazh.

II.  Geld

IT11. Unencumbered investments in specified
instruments. :

[V. Priority sector loans.

Choose the correct answer using the codes
given below :

1) I, III and IV
i2) LHlandIV
(3) 1, ITandIV
4y I, 11 and III

Gilt edged market comprises

Treasury Bills and Government Bond
Market,

(1)

(2}  Mutual Fund Market,
{3} Derivatives Market,
(4) Capital Market,

[ 29)

T2,

T3

T4,

[A]

dois wrofo S Duge DHHED
wmodibiac 2008

[ (658 cerdoed elbdood,

1L &5 Saes Aol Shbos.

L Pz Sofen frddo Do,
IV, aroSoe g0y 00l a0
ooy,

Bibd Ta06d Fhaf adRrnod S0
AdroraDy dochsod |

(1) 1, 11 codabn IV
@ 1 S00cin 11 Smedah

(3) I, I Jaddcdo I

(4) I, 11 SoBadao IV

Shadtod O8:ad 2530 arjolen &
draod Hdstroord

I. i,

II. aomrddw.

M. 2838 rdard ardo B2 DePade,
IV, |arordgd Gormrensy Bnnere.

Btbd 2s10a8d8 Fheod SJarfod Abo
Sedrrarma Sochtod

(1) I, 11 Sedciw IV

(2) LI Sofdin IV

@) 1150 IV

(4) 1,11 Sobaio 111

A G & Srdpend alnd add
@ gerar Depen, | Do 3 2o Ar0peD.

(2)  shargcieid Do dSrd)en.
(3)  eyedyarye Ardyan,
) doresdd ardy s,
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banking norms is

{1} A loan which it due during the last
90 days,

(2) A loan whose instalment of principal
and interest amount has remained
overdue for a pericd of 90 days.

(@) A loan whose instalment of principal

(30)

amount is overdue for a period of
80 days.

(4} A loen whose instalment of interest

amount is overdue for & peried of
80 days.

Name of the committee on Indian banking and
financial sector reforms constituted by the
Government of India in 1991 is

{1}  Buresh Tendulkar Committes

(2}  Committee on Financial Stability
(3) Committee on Financial System
{4) Raja J. Chelliah Committee

Para Banking Services include the following :
1.  Credit card business

II. = Insurance buginess

III. . Credit to para military personnel

IV. Factoring eervices

Choose the correct apswer uging the codes
given helow :

(1) LI1landIV
{2y II, Il and IV
(3) L Handlll
(4) T,IMMandly

[&]

. (D wolh Awodde PSS AOYS

R3ALMEY) BT
@ b 90 Arreed TrHeine 2300610,

@ go ATod Dod  fidd Do
NS @hen ToneT, $6.

‘@ 90 Avo oS g 0D

2PN 9D STODET.

4) Gd 00 ATed fdohd awedo

a8,

199165 Erde  |DEZéLo DomEn  Dad
el arsolofi, wf dof SHodydcs
gnoed Tk

(1) rlh Bodre)s
(20 marnchd RdHOd saned

DTYAHS Y5 L0ed
(4) orer B Teopch £o0es

o erofof Bdwd' & Boad ama
= el etV

L 588 v arearddn

L O3 spardsn

I 2o 0d6H8 Baoas AW TR

IV. arE8ol haey

& adrady Fhod ardirhon B
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GENGMog

78,

(31)

Given below are two statements, one labelled
as Assertion (A) and the other lnbelled ns

Reason (R). Select your answer from the codes
given below,

Assertion (A)

_Gmu:ls and Services Tax (GST) introduced
in 2017 is non-infl ationary.

Reason (R) -
GST system avoids tax-on-tax.
Codes :

{1} Both (A) and (R) are true and (R) is the
correct explanation for (Al

(2} Both (A) and (R) are true, but (R) is not
the correct explanation for (A

{3) Both (A) and (R) are false.
(4) (A is false, but (R) is true.

Match the following :
List I List IT
a. 10" Finance 1. C. Rangarajan
+ Commission
b. 11" Finance IL KC.Pant
Commiseion
. 12t Finanee  IL Vijay L. Kelkar
Commission :
d., 13 Finance IV. A M. Khusro
Commission

Choose the correct Answer using the codes
given below :

a b ¢ d
(1 I v m
@ W I 11
@ W I m g
4) 1 v I

8. (B0 Bodh (Hibden a5k 2800, 2.5t3

Ganstm (&) 5w ofdd stmo (R
Bandd Habadod. &b m&&sa:ﬁrﬁlﬂﬁu
208 f Harcrn) doctod.
Sadsen (A)
20175 Sosdydod  (@HEhHas 5%
Fder Hay 1650 7o dared .
5o (R) :
S5 Tasder Doy SRS Dan® Sy
erOch,
hen :

@ (A) SHBcsn (F) Bodr d=o Sbdin
{A)E (R) 504 D3 S,

(2] (A) Sobdin (R) Bodr Hz=o, o0 )
el (A8 HPS DAGe s,

(@ (A Do, s (R) .
(4)  (A) &3, 50 (R) Do,

78, & 808 oDl saTcindn ;

ardar |
a- 105 sal8 Hoguasn L

b, 1125 a2 Sodnadn
e 1205 a8 Sodndn

zrdae [T
. Sofiorad
II =5 508

L azch 29,
Beyb
d. 135 ©08 HoDI0. IV, JoS. pod

Qs Thtadd Fhod asdiriol ABA

RrErarR) oothfod |
a b © d
@ n v m
@ II v I 111
@ I IT 111 T
(4) 1 v B 1
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Given below ape two statements, one labelled
as Assertion (A) and the other Inbelled ns
Reason (R), Select your answer from the codes
givien below,
Aszertion (A) -

Budget Deficit finaneed by

currency will lead to price rise.
Reason (R ;

More goods will be produced in the economy.

Codes :
(1) Both (A) and (R) are false.
(23 (A) is true, but (R} is not the correct
explanation of (A).
Both (A) and (R) are true.
Both (A) and (R) are true and (R} is the
correct explanation of (Al

printing

(3)
(4)

Part V of the Andhra Pradesh Reorganisation

Act deals with

(1) High Court.

(2)  Apportionment of Assets and Liabilities.
(3) Authorisation of Expenditure’ and
Distribution of Revenues. ;
Management and Development of Water
Hesources.

Polavaram Froject is a
State Project funded by the Central

(4}

(1)
(rovernment.

2y State Project funded by funds of the
State of Andhra Pradesh,

(q) State Project funded by the States of
Andhra Pradesh and Telangana,

{ll'l-j Hﬂl.iﬂnﬂl Frﬂjﬂﬂu

How many Schedules are there in the Andhra
pradesh Reorganisation Act ?

(1) 18 Schedules

(g) 14 Scheduley

@ 18 Schedules

(32}

80, (B0t Dot [HEtden 25500 28h00. 258

81.

B3.

(4) 16 Scheduleg Yy

Sansdem (A 5T =Feed s8=0 (R
oo Hobadod. Ofbd 25 5

Saod f Sdrorre Josod.

St (A):
afendtod 850 Do s
Se5 Oden o Foa

5o (R) .
ebE Sraes’ 2o SYJ o
ScincEron.

E&ew:
(1 (A) oBcin (R) Bodr 230

@) W d=o. eH ) =5 (A8 B
A58 sEn.

(3 (A) Sbcio (R) Dodr 220

(4) (A) (R) Bodir R0, (R) el (AVED
BB DB,

ol HET DSBHIVICD SPOSD DOS

zriio A RonododHe

(1 FEH.

(2)  esadew, rdifeber DEiea.
B, aorare Honds sbsdo.
(4) D& 330 DS 5Te, addpl.

Fosdo a8

(1) Bold Db s Dcnes o (2L

(2) o dAEs ola Ao oo o
BF2E Dchen,

(3) @OGHET, Swore TRl A
AaSrd ) oy 3rEE

8o (25,

@olODBT HIsshsse oposS I

@ 13 e Sey
(2) M4 Ddrrdey
(3) 15 DaerySen,
@ 16 DrSeys
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GSMGANG

BA,  Apis Connell of Godmvar anil Rrishin iy
walor  rosMaTTeE il theit  snisagemen
ponsizls of
i) Minteter of  Water Theamirens,

Government of India a8 ehairperson el

Miisters of lrvigation of both Atwlbrs

Pradesh and Telangana ng mensbers.

Prime Minister, Governmend of Indéa as
chairpersan ned Ministers of Trrigntien
of bath Andhra Pradesh nid Telangona
ae members,

Minister  of  Water  Hesouroes,
Government of Tndia as chairperson and
Ministers of Revemme of both Andhra
Pradesh and Telangasa ns membess,

Minister of  Waber  resources,
- Goversment of Indin as chairperson and
Chief Ministers of Andhra Pradesh and

Telangana as members.

i3

il

Covernment  of  Andhra Prudesh &
implementing Y30 Rythu - Bharosa - M
Kigan Scheme for the benefit of farmers of
Anvdhra Pradesh.

Which of Lhie fullowing statemeats are correct

about the above scheme !

(1) 13,500 is given 1o & farmer’s faraily in
{hree instalments every year,

#7000 is given by Government of

Andhra Pradesh and 7 6,000 js given by
the Goverament of [ndia,

(2l

76,000 is gven by Govoromend of
Andhea Pradesh and ¥ 7000 ju given by
e Government of India,

(i

L4 ]H‘Em.wm‘hmm’ufunuh'm
fwrimlmuumm

()

e R N
WWW.SAKSHIEDUCATION.COM
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p, o0 gy SRR 2 v

il P 6
08 I.;Jﬁ’é i) el Sk 71
ol WEE, duomer tody

| 33}

Stk
me FOA sl
;}gjumn*ﬁdff"-

i o B8 Emod 305,
sl BB, AU0MiT Jody, e
e T o s
gokri.

w48 DBy 2R fod g

4ns m, SaERDE Booma
' pofed - OdT o

Asgeier Gotrd,

TGS s Wb 20ske

SoB,  Adjor  SogRne,

Boore Anagholden.

B, sodOE Wi eolfEdi e
Girere Sho Fdhed i AR -
ha0. S Sieny s S0l
2 9680 ood o peded A0
iy
(@ 7160 28 g Sorwoerdd 3

fisgo  Sra  swmed

58 jucidood,

7,000 o WS | peejo, ¥ B0

P08 (b 0 woaod

T 000 8oy LB o, ¥ TR0

w08 510 sonob

TI0M 28 ey geuoertd B2

AOSSYE0 ey Jmﬂﬂﬁi

i)

(2

]

(4]

B fdodind,
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{3

One of the fallowing welfare programmes
implemented by Government of Andhra
Pradesh 1= not part of Navaratnalu.

(13 "mt-«nng for all Poor

{2} YSR .Jala Yagnam
{33 ﬂﬂ?ﬂﬁ:‘_ﬂ'ntﬁ
4y  Vahana Mitra

The following App developed by Government
of Andhra Pradesh is an SOS service for

women in distress or danger.
(1)
(2)
{3)
(4!

Spandana
Bharoza
Dizha
Prajwals

The CCRC introduced by Govermment of
Andhra Pradezh stands for

4

HT.

88.

{1} Crop Certification Residue Contral to
certify erganic farming.

Crop Cultivation Registration on
Certificate for pledging lands for bank

(2)

loan.
{3) Crop Cuoltivater Riphts Card for
providing assistance to lease-holders,
(4} Noneof the above
Areawise, which of the followin icts of
Andhra Pradesh s the mmlleat?g "
i1} Parvathipuram Manyam
2) Palnadu
i3} | Annamayyg
(4 Kurnoal

Who among the following is & heayyweight

“r.."-_-]_ghﬂj ﬁ-iﬂg l,'hﬁ_:n t . =

Pradesh ? #on who hails from Apdhira
(1)  Sathish Sivalingam

(2)  Kunjaranj fe.

(3)  DBrova Chaler oy,

4) Dandamyg; Rajagopal Ras

89.

oo,

a8,

(2]

wodHdf (Hivsio e TS &
Bos @0l  sHSsred a5

adderyed ariio S,

(M haeossl ah

(2} PoR.eb 2o dbio

@ ealfiig?

@) aers o

SO SHINET (Db jo wféﬁ‘a@ o Sod

cirh easd o (BHard s evarde
o 28 Nl

(1) A0S
(2) 8>
a7

(4)  |wge

SoOHET (DHZbdéso NITES Dhelh
esot)

(1) Solfah Si33rdirD) Gpngsotand
Jo& GHyEsm esdare DabolSe.

argofo timo SWo drdwmed =gy
DHEDE HOHESD Do o I,

Saordes AdFcho eclodont
208 Frbord o s,
230 5%

(2)

(4)

EromOTdmr, wodiHdfS'D tod 2
D6 DS816 7 =

@ WJE;&&D el §O

(2) Jeryc

(3 ’E’*ﬁli&ﬂu

(4)  Stryey

o

:;,gﬁ TS SOGRETH Dodd
S T DDA croDabS 56 ?

(D PS5 344,

31608 wgsg

@ Goaumg RS oy
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135

Part D
Geography

Consider the following statement and answer
the question,
Statement :

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to & billion.
Which of the following time period can be
represented from the statement ?

(1 1950 = 1963
(2 2008 - 2021
(3) 1987 - 1589
(4) 1990-2012
According to the Scheduled Castes and

Soheduled Tribes Orders (Amendment) Act,
1976, how many Seheduled Tribes are notified
in the State of Andhra Pradesh ?

{1y 31

(2) 33

(3) 35

4y 29

As per Census of India 2011, which of the

following group of States and Union

Territories does not have Scheduled Caste

Population 7

{1) Nagaland, Sikkim, Tripura, Lakshadweep

¢2) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram

(3) Magaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram, Arunachal
Pradesh

(4) Dadra and Nagar Havel;, Andaman and

Nicobar Islands, Tripura, Mizgram

03.

>RD

ar|fi®
Bod L;':;EEJ:EME' SONEotos, BT
HATETA0 2 508.
(35S
B0 SrS BT 2.8 DO srdns
e sl 2.8 pHohS NoSS e Lot
o HHEHO 308, 50 B8 5 DDA
wob 6 DOCHP - DEATE E3eo
12 HoSS 00 HFoS.

1on T85O dddd SO RS Bod
R ey T L

(1} 1950 1963

(9) 2008 — 2021

1987 — 1995

(4 1990 - 2012

nbrd Seren, Tadrpd Sio addyo
(Adden) S0, 1976 |HEdo, @olBHEE
o8 A2 D Bien S8R TR ?
(1) 31
33
(3) 35
(4) 28

W11 2rées 2T De Beoo, 500

O, oETOS |romed BETD

Soerer arer OO T o

) &rerod, Lo, 1B, 0idR

2) Trero, ogA% wosirs. A8TD
Sy, o

@ Trerol, oLb 5, mgochard, pgerd
Bayen, &0, wipgrsd W

W) o, 315 538 wanirs, 980

BIen, 1836, sto
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GSNnG 100 136)
S4 Match the f owing (Sex Ratio) : 04, 808 ol s dabod (Dofl SRR
Lis: 1 List I o DE I erder
a. Poduc
Ucherry 1. 9493 & ;}:‘iﬁﬁjﬁ L 993
b. Tamil Nagu 1. 1037
b, Seardd 1. 3037
¢ Lakshadweep ML 996 « GEAS 111 996
d. Andhrg Y. 04E ' 1
{h‘m & correct N ¥
given below : G &S adiodds Fhad Satiriod A8
. J h ’ BiroaR) dothlod: ]
(0 I I A I ! i :
@ . m 1 v ol . SR
. @ u 1 w ITI
ig3} 1 I IV I
£y I I I v \ o T :
(4 1 i} m v
What percentage of rail routes were electrified |95, . 375 2019 738 ardatHods’ Jod a0
in India by March 2018 ? Bew Jrgren DeuidEboor ?
(1) 45% :EB 15%
(2) 50-91% 60-91%
{3 T8 :E: 76-50%
62-12%
(4) B2-12%
96. & %S08 5 wpes &6 :
: 10 As6
Mawch the fllowing Coalbased Thermal PadD T8 e Aoy s:
Power Stations and their States - arfle | 2
List I , erder T
(Thermal Power st Il (555 3565 oy afhewy)
tation) (Staze) Daialy
a Kudg L  Chhattisgarh : ?‘:‘“ L 38706
b. Kshelpam . IL Kamataka - SIS L Sgred
e Sipat M. UP. : ::::;: L o,
d. Dadri IV. Bihar = ele IV. H5E
Chooze the correct answer using the eodes &b Eﬁﬁﬁﬁé E‘ﬁcjﬁ’:} .
N : F0IrACD HE S
below : ~e
given NEETI) Jochod -
a b [ d a
b - d
1 1 I m (1) 1 I
@ m IV I 111 @ o Im -
(3 Iv: I m | @ I n 2
@) 1 IV 111 I (4) II v o !
I I
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GSMGMo0
97. Match the following @
i{::_lhm;: of i Agricultural
culturm 0 he
Regronalisation e il
n. Crop 1.  Weaver, Doi
combination
b. Crop 11, Bhatia, Jaghir Singh
diversification
¢. Crop M. Chisholm, Bhatin
concentration
d. Agricultural IV. Kendall, Majid
productivity Husain, Jashir
Singh

a8,

Chooze the correct answer using the codes
given below :

a b L5 d
(1y 1o 11 v 1
2y 1 n 111 v
3 II I1 I v
4 1 I v 1

Which of the following type of grassland
separates Cold Asia from Dry Agia T

(11 Steppe
(21 Taiga

{3) Tundra
{4y Praine

According to the Indian Forest Act, 1927,
which of the following is the most appropriate
sequence which shows the degree of protection
between different forest types 7

{1} Reserved Forest > Protected Forest »
Village Forest

2y Protected Forest > Reserved Forest »
Village Forest

(3) Reserved Forest > Village Forost
Protected Forest Vil

(4)  Village Forest > Proteeted p
Reserved Forest orest >

1371

p7.  Bol areln anet o fehiod ¢

adradad el
et IO wtJIed
Sedelien)

Ilr :I:J‘F..Jl I'f:":l_.l-a
arddelty, B
raeafy

e Mot (1. St arais
d. éﬁﬁ;ﬂ‘uﬂmﬂj{.&ﬂ& IV, Bacrd, arel

|
:.T'.'I:xﬁ_].-‘_l, e‘.-“ar.l,,tr

n mody Heaomh
b S0l RnGi0 I

A7) 41

Ao @ rntd Bhod aldirfod ESTal
AT Yo T i nT

£ b P o
1) I~ 1 w1
I 1 m IV
@ I 1 | v
4y I 1 v Il

o8, Bof oot D 85T #E dirduen D9

pidird S abdir Sod Sth Hwron ?

@ =
(2 T
(3) eo
@ (20

Zros eatad) 560, 1927 15500, A26 OFL

ooh dro S6; Sin Fond dracd

S08 odd edios HAnDSTN (500

ol 7

@) oubs T > 68 T > DTS
Ao

(2) 68 0D > Oaby 0w > 28T
Aron

(@) 8265, 20D > oL OR > G2
ari

) oS 0R > 68& Fon > 0255
S ler
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100, Which of the fullowing mdicator specied Aty
not found in Sovenkateshwara National Park

of Andhra Pradesh ?
1) Wood stork

2} Cyeaz beddomed
i8)  Red sanders
(4} Elender lonis

101. Which of the fallowing is the first pipeline
conzstructed in India for the transportation of

eruwrde oil ¢
(1) Mumbai High — Kayoli
(7' Hajira - Bijapur - Jagdishpur
(%) Naharkatia - Nunmati - Barauni
(4) Jamnagar=Loni

102. Andhra Pradesh is the sole producer of
(1) Barytes
(2) Apatite
(3) Ironore
{4) Granite

103. Which of the following factors are responsible
for the higher Sugarcane production in
tropical regions as compared to sub-tropical

{38 )

WWW.SAKSHIEDUCATION.COM

[A]

100, esolHHETS'D F08 50 Fa8SD
808 Mo ardoen O SDHo M) 7
() 5580
o rh DS
04 rodby
Rodh SO0

0L fo8 o8E And odnd dowe §Ho T
araarios 00004 Ao BHES 67
(1) Swod wr - sard
@ o - Hardyb - andhiyb
S e - fed B - 20"
() rSais - 'R

102, wo|GHET I8 &éﬁm&:
(1) =dsy

21 esard

(3 @ pRB0

4) RO

108, 2réadiosD ad-eldods |Domod

A0 aodode |Towd «bi T6H
crededl Bod soisren O SOmaayEtas 7

{3
L)

L A3 esiod S oden

I wo5odgrio

ML SR e)foye oten

IV, 05 A whdrdd

&b IA8 Food aHTriod HBS
RG] dothTod

(1) InBain 11 Al

I 11 B 111 Srpedaby

(3 LTI S8ckn IV Sressh
(4)

regions of India ?

I.  Cool nights with clear skies

[I. Latitudinal position

I1l. Long hours of sunshine

1v. High temperature disparity
e, e e e gt e
(1) Tanddonly

(@ 1,1 and I gq)y

(3) 1 Mand [V 4y,

4y LUandvgy,

1 1T sSo8ak v dresab
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104. Who among the following mode the first

105.

106.

attempl to demarcate Indian Agriculture inin
4 macro regions ¢

(13
(2)
(3
(4)

Sengupta

Sdazvuk

Jashir Singh

Sengupta and Sdagyuk

Which among the fellowing statements are
true about Indian Steel Industry 7

1. India is the second largest producer of
gteel in the word.

II. Indian steel industry  produced
51-589 Million Tonnes crude steel with
5-1% share in the total world production.

1II. The production of steel in the year 2020
is more than the previous year.

IV, India is ranked first in the production of
crude steel.

Choose the correct answer using the codes

given below :

{1y TandIlI

(@ LHNandHl -

i3y landll

4y 1andIV

Match the following Geographical Hertage
Sites with the States (location) :

Geographical
Heritage Sites Slates
a. Lonar Lake . Odisha
b. Siwalik Fessil Park 1. Rajasthan
e, Akal Wood Fossil IIl. Maharashtra
Park
d. Pillow Lava at IV, Himachal
Nomira Pradesh

Choose the corrétl answer uging the codes
given below :
a

b C d
w 11 m v
@ m I I
@ I A 111 I
(40 m v -

(39}

104,

106,

104,

(2]

Bofy oD artedh SfSirairty 4 AP
@rosrenrr ot M ([Habd)o 5
damt 1

(1) ey

(2 Al

(3 axtnb ol

@) PSthar Sodm PRl

artelcty oy SbFat Aoogod Sob
e85 08 Dao?

I afy as3@dE srosdio Dod
ot ol

arddach ey SO dudo Do
et 125 5 1% arard’ 51-89 Dodald
83055 d0dh dfionah e} ol
2020 Do dos dfay debD M
S0Heto Yot toge,

I R N )
Tta arsod ol

Ahd s Fhod addirfod HDd
adrgrmy Sotood

@) 1:bcko I

(2) 1,11 Sobalw I

(3 I[enboholl

4y IeodOdin IV

Eof THDE odnd: HEToS oarod
(9840) Abifejob:

IT.

I1L.

IvV. artadido

T aded s .
(T Ten orgo
8. b S, . 4%

b. HaOErhd b Il oads
6. wed28ond L Hoon

by
So S0 58 IV, Sparad 08T
s

S ws 88 Fhod assiriod JBS

d,

AR SodhTod

n s o d
1 1 1 11 v
@m w g
@ v 111 |
4) ‘M w | 1
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110.
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Which of t)y, following geographical series is
Tof related tq Vindhyan system ?

(1) Bhander Series
2}  Bijawar Series
@ Khondalite Serics
(4}

Kamur Series

Which of the following are a result of
depositional activity of the Himalayan rivers ?
L River Terraces

II.  Braided Channels

II. Allswial Fans

IV, National Levees

Choose the eorrect answer using the codes
given below :

(1) 1and Il only

t2) I, T1II and IV only
{3) I,T and IO only -
{4) L II, I and TV

Which of the following Southern States shares
houndaries with maximum number of Indian
States 7

(1} Telangana

(2} Karnataka

%7 Andhra Pradesh
(4) Tamil Nadu

There is & Place-A with longitude 060° West.

There I8 @nother Place-B with longitude
0a0* East.

If the local time at Place-A iz 10 AM, what
would be the loeal time at Place-B 7

(1) 8FM
(2) 10FPM
(3) 12PM
i) ©&PM ¢

140

108.

109,

110.

(2]

107, 806 A" O 2TTWE (Fed8 Dotsy Sransa

oD B 7
(1 Hoab wih
(2)  Derdb R
@ SFotEd b
(4)  Bdrh LA
Bofaalds rarecly Scoes OB Do O6F
RS om oG08 6 7
L B35 ®|0hen
. =ddora3den
L zoickssdd
IV, ardclh SO0
S Basnds f6o5 addErfod A0S
BAPCER) SocuBod
(1) 1 S00hn I Arash
@ 11, 111 oo IV Sr&
(@ 1,11 SoBoiw 111 Swesah
(4 LIL I Sobcin IV

f08 2 Siwd TEres 0D SHopis

ardinch O ared BItDerds
wOTDEICLToN 7

(1} Soomre
@) s

(3) esolHEE

4) ¥

Qarodo 060° H30es H8H0-a Sod,

090° &rthy Bgrodod L8% \B8io-D
Grof,

©Edo-a 3¢ Fd A0ho 10 adcho

wond, 1N8i0-D 58 TOE H2O Jos
Wodod 7

@ 8 E‘.'.'I‘l::ﬁ}c.Léﬂ
(2) 10 M'DL&G
(3) 12 F}'Cﬁm@ﬁ
) BRrchogg
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GSM1GNO0 (41)

111. Consider the following statements regarding | 174, AR o = AR AL Aonodod |Sod LA

India :

L India has an ares of 328 million sg km,
and accounts for about 2-4 percent of the
total geographical area of the world.

II. The mainland of India extends between
latitudes &°4¢" N and 376 N and
longitude 68*7° E and 97°25° E.

III. Preszently India has 28 States and
8 Union Territories,

Which of the statements given above 1sfare
correct 7

(1) Ionly

(2) TandIlonly

(3) IandIII only

{4) I, IIandIlI

H8fcdocdod :
[ arbsEdo  a28  wddbd CSeStiay

stthed  Ongo SN God
Haodos’n Fuso FHPE Brajed’
ooy 24 7o arér $ORa0d,

II. erdeaidd | Ered Zirgriio
soTen 874 o0, 8776 oo oarodo
68°T" =, 87725 @ s Andod aod.

I, |Déndo  ardazfdod’ 28 ovEren,
8 Eo|Sarde Erosren G oo,

2o @03 (SRS 08 HESSHEAN 7
(1) I&mesh

2 ISodai 11 SrEa

(@ 1 sfcln I SrsD

I, 11 S8 111

112. Match the following Irrigation Projects and [112 %08 HSFdoe |=r3fpen, a8 ovafew

their States (location) :

Irrigation Projects States
4. Parwan Multipurpose I. Madhya
Project Pradesh and
Uttar Pradezh
b. Renukaji Dam Project II.  Uttarakhand
¢, Lakhwar I1I. Himachal

Multipurpose Project Pradesh
d. Ken-Betwa Link IV. Rajasthan
Project

Choose the correct answer using the codes
given helow
a b c d
1y 1 1 HE -y
@ woomon
@ U v 1 1
4y IO v Il I

(DEd0) bt o
Aefarchse

[Er8shen . Oty
B doeSadadh L SdnaDd,
lrag | Bels

b, Oz oo 12035 1L adopod

e ogrl SH0ndm L 2rSrcd
=k LB
d. 35-Bars o8 228 V. oS

Ofad Idgadsd Thod gasiriod HB&

ARy SochEod -

a b © d
m 1 om m v
A\ || G
@ oW Hstey
(4) m il
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GSMGon (42)
113.
3. Match the following Tiger Reserves with their 113. 808 a6 Gabod ol U‘L@'ﬂg
T':.E"i"'f‘ Roserues Siates iﬁﬂﬁ:ﬁ_ﬂ ﬂ?#"ﬁlﬁ
a. Periyar . Chhatti
% Egnrh = ; W,
: a RAcrd L et
b EﬂﬁHI’.n i1, Rajnsthan ﬁa 5
e. Buxa HI. West Bengal b, DO IL {:r'a.@'.,.ﬁ
d. Indravati V.  Heraln e BT IIL 5230 Bord
Chnfﬁlz the corroct nnswor URLHE‘ the codea d. Eﬂ_m‘&‘:a Iv. 2o
Etven bolow :
O MSrISn D SonE Toloedn
o b c d
n b e d
R | 11 1] v a1 - i -
i i ! i {2y W 11 I I
(3 IV 1 11} I v 1 - i
4 W noo1 ) < w w g
: 1

114. Phlogopite and Pegmatite minorals are related
Lo
(1) Petroloum
(2) Miea
(3) lronare
(4) Gold
116. Which of the following is currently the biggest
Thermal Power Plant (with an installed
capncity of 4,760 MW) in India ?
{1y Mundra Thermal Power Station, Gujarat
(2)  The Vindyachal Thormal Power Station,
Madhya Pragesh
(3) Sasan Uliry Mega Power Fi
ant a
Pradesh e
4) Talcher Byne i
( bloss Per Thermal Power Siation.
e —

114, DET 245, DR mderen Honofod s
(1) EDaho

@ »s
(3 =%h pR=o
(d) Borso

115. 508 el |Hiuso ardafios E923 TS

@08 535 ol 4,760 ST TSy
arafsod Ha ;

(D) dwolor $8;5 536 Bas, haos

@) oo  s65 B35 A8,
DEHTE

@) RS wer e 286 Tos,
S0C D ESE

(4)

TTIB DB 455 38 WS, 287
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GSMGM00 {43)
[A]

116, The greatest variety {d'ivomil:,-} of animal and !
: 116. 206y,
T iy : ;aﬁ e D) BDei0M 08
e 3

{1} Tropical Moist Forests
@) amose 85 edden

(2)  Temperate Deciduous Forests
(3} Taiga Region (2) eS8 afoordl) eadhden

(4)  Deserts and Savannas @) BrrErodo
) Dordoen S0y AR e
117. Seasonal differences are maximum in 117, 2udhogher Egren 80 SOLTon
(1) Mid Latitudes @ Sa¢ss mEroTen

(2) High Latitudes
(3}  Low Latitudes
(4) Subtropics

(2) eff ogomen

(3) &S eogromen

(4} erddrgdodieren

118. What is the proper river order from North to [118. &3S0 Lof SZordE 584 48 [ES0

South 7 et -
1) Ch i, Sutlej, Be
(1} ‘Chenah, Ihelum, Ravi, Sutlsj, Bess (1), &rd, dwo, 62, S8, Daird
{2) Jhelum, Chenab, Beas, Ravi, Sutlej
(2] oo, Oard, DairD, 850, S0

{3) Jhelum, Chenab, Ravi, Beas, Sutlej

(4) Chenab, Jhelum, Beas, Ravi, Sutlej doo, Orrd, 69, Dalrd, Sl

(4} O, oo, DoirD, 6, ST
119. Naupada Ceastal and Marine Bindiversity |119, J5¢ 6 Sfckn Huld #3304; |Zrodo

Area (ICMBA) is located in the district of DBI0D.) 3@3.5‘ OB

{1) Srikakulam @ QS‘ i

(2] Vijayanagaram

(3)  Alluri Sitharama Reju @  DaEchadido

(4} Visakhapatnam (3) ©UPS VBTN O
(4) ATHIEIO

120. Arrange the following constituents of the 120, T&38modn 208 arred e3Fro
atmosphere in descending order (in terms of 550 w0l (el i)
their quantity) : =00

lﬁ‘ I-EI g tEl (E'r{:ﬂ
{1} Nitrogen, Oxygen, Argon, CO, E::) E:'L ﬂ?‘: : ;HH;ES‘ ;
i , &3 ] A, L =
(2) €Oy, Argon, Oxygen, Nitrogen )
2 (3)  =fyed, JEas, CO,, uFe

(3)  Oxygen, Nitrogen, COy, Argon :
{4) Argon, COy, Nitrogen, Oxygen (4) @G, COg, Elﬁ-‘?ﬂ:ﬁ, a8 20
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